ba=g xx 2 a =l




3agaHuve:

[1peacTaBb KaXgoe YMCrio B
BUAE CYMMbI pa3paaHbIX
criaraemblx:

28063, 560, 137, 28.
280 =200 + 80
63 =60 +3
560 =500 + 60
137 =100+ 30+ 7
28=20+8




3agaHue:

» Kakme vmcna nponyLleHbi?
60 - 10 =600

200- 4 =800

. 50-_q =450

1 37- 10 =370
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1 BapuaHT 2 BapuaHT
Ne 119 Ne 119
250 : 10 = 25 420:10 = 42
800:100=8 1000 : 100 = 10
500 : 10 = 50 660 : 10 = 66
! 'Ne 120 Ne 120

300:100+50=53
200—-400:100 =196

100 : 10+ 390 =400
680 —800:10 =600







IlomalluHee 3agaHue
Pab. T.: c. 37 Ne 124, 125




